Assembly Instructions

e @sted

VUE L 36150, 36170
VUE X 36250, 36270

e
s

=

info@winsted.com

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com


../VUE P-A/36300,36320,36400,36420/Hardcopy/36320_Title.jpg

t d Assembly Instructions

Hardware
) e
. o) BT
= D
#10 x 0.625 Wood Screw #8 x 0.625 Wood Screw 8-32x0.5

M6 x 1.0mm x 10mmL M6 x 1.0mm x 16mmL 1/420x1.375 #10 x 1.75 Wood Screw 10-32x1.75

e Y
N
1/4 20 Snap Fastener 1/420x0.75 1/4 20 Keps Nut 10-32 Keps Nut
Tools n N
AN A}
\ \ ail

Screwdriver/Drill #2 Phillips

36036/36040

e

T a—
—

s
—

36021 36016 32213/32215

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



Assembly Instructions

32708

36020/36026

36024

59009

36023

_—sssss

59056

36010

36012/36028

36027

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



Assembly Instructions

M6 x 1.0mm x 16mmL

== illi
, X 4 #3 Phillips

M6 x 1.0mm x 10mmL

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



Assembly Instructions

e @sted

#2 Phillips

36007/36027

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



t d Assembly Instructions

M6 x 1.0mm x 10mmL 36003 (4)

#10 x 0.625
Wood Screw 1/420x 0.5
for — for
Laminate MDF — Compact Laminate
Surface - Surface
0 #2 Phillips 0 #3 Phillips
For 36170/36270 Only

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



Assembly Instructions

sted

#10 x 0.625
Wood Screw

for

Laminate MDF
Surface

#2 Phillips

OR

S
S
o)
,

x17 for

1/420x0.5

®

Compact Laminate
Surface

#3 Phillips

#10 x 0.625
Wood Screw

x 35 for

Laminate MDF
Surface

#2 Phillips

OR

36036/36040

For 36170/36270 Only
1/420x 0.5 @
x 35 for
g Compact Laminate
Surface
0 #3 Phillips

For 36150/36250 Only

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com




Assembly Instructions

for

Laminate Surface

#8 x 0.625 Wood Screw

Laminate MDF
Surface

#2 Phillips

Al ® ]
i =
J=l0 ) EHE
x2 =
#10 x 1.75 Wood Screw 10-32x1.75
for for

Compact Laminate

Surface

#2 Phillips

8-32x0.5
X 4 for
Compact Laminate Surface

#3 Phillips

32213/32215

x8

1/420 x1.375

1/4 20 x .75 Washer|

#3 Phillips

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



Assembly Instructions

X8 [ewmmor] 2

1/420x0.5

1/4 20 Snap Fastener

1/420x 0.5
#10 x 0.625 i s
xS <7 1/420x05 H @
for OR x2 for
Laminate Surface Compact Laminate Surface -
#2 Phillips #3 Phillips
1 LN
N\ AN
LRl [ -
0/
AT g\
oA oY \_ )
Q, 80)
OA_T0
(; —VoN—L_ A
im0 4 - ~
o1 ==
T FOLLOWER (4)|

\
d 3N\ »:l AN

/fﬁ@‘ ————
= 10-32x.05 »ﬁa'a 10-32 Keps Nut
X2 ' X2

#2 Phillips

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



Assembly Instructions

sted

IRepeat steps 10 and 11 for each remaining Cable Link Follo

wer g5

—

O
AN

@]
T

/7o

)

X}

==Y
e

e L
(@)
A

99 ¢
L7979/,

pr g
P71/ ]

SEEY”.«
4

(F

A
Y

L]

\—.

O,
|

AN

(L

S
10-32 x .05
0 Y % x2

#2 Phillips

uuuuuuuuu

i 36023/36024

= 10-32x.05
== x8

#2 Phillips

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



sted

Assembly Instructions

36022 (2)

—

36021 (2)

10-32x0.5

#2 Phillips

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com



Assembly Instructions

|Repeat Step for Back Side Doors (59056) |

2999 Ames Crossing Rd, Suite 300, Eagan, MN 55121 | 800.447.2257 | winsted.com | info@winsted.com





